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1 exp Hearing Loss/ OR exp Cholesteatoma, Middle Ear/ 67,814
(hearing loss OR deafness OR Cholesteatoma OR middle ear
P 2 mass OR (hearing AND (sensorineural OR mixed OR 56,389
conductive))).tw.
3 10R2 86,442
M tic R Imagi OR M tic R
1 agne ic Resonance Imaging/ agnetic Resonance 442,092
Angiography/ OR (MRl OR MRA).tw
Tomography, X-Ray Computed/ OR Multidetector
aAt 5 491,252
Computed Tomography/ OR (CT OR MDCT).tw
6 (imaging OR Radilog$ OR Radiograph$).tw. 748,475
7 OR/4-6 1,281,841
P&AAL 8 3 AND 7 8,475
RpRiEy 9 (ggide.line$ or rec.om.mendation$ or statement).ti. or (practice 113,497
guideline or  guideline).pt
e 10 11 AND 12 14
H 2. ME548 MEZE 1-4 22| Ovid-Embase
A2l 2019. 05. 08
= N ZAM0| M Zit
P 1 exp hearing impairment/ OR exp cholesteatoma, middle ear/ 111,070
5 (hearing loss OR deafness OR Cholesteatoma OR middle ear mass 83233
OR (hearing AND (sensorineural OR mixed OR conductive))).tw. '
3 1T0R 2 86,442
At 4 nuclear magnetic resonance imaging/ OR magnetic resonance 802.930
angiography/ OR (MRI OR MRA).tw '
5 computer assisted tomography/ OR multidetector computed 981 977
tomography/ OR (CT OR MDCT).tw '
6 (imaging OR Radilog$ OR Radiograph$).tw. 1,227,145
7 OR/4-6 2,267,878
P&AAL 8 3 AND 7 17,330
RpRIEy 9 (gl.,lld?|lne$ or recommendation$ or statement).ti. not (letter or 117.509
editorial or conference paper or conference abstract).pt.
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